The three-dimensional configuration of DNA looks like a twisted ladder or spiral

The Genetic Code

staircase, with A-T and G-C base pairs providing the rungs or steps. Hydrogen bonds
form between the correct base pairs: Ato T, T to A, C to G,and G to C.

RNA has the base uracil, instead of thymine. The uracil bases hydrogen-bond with the

adenine on the DNA strand, as in the following base sequence.

DNAstrand: CCCCACCCTACGGTG
RNA strand: GGGGUGGGAUGCCAC

Decoding RNA sequences to their corresponding amino acid sequences, as shown
below. The triplets UAA, UAG, UGA, and AUG signal the end of the gene and the
start of the next gene.

RNA strand: GGG GUG GGA UGC CAC
amino acid: glycine valine glycine cysteine  histidine
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